

Adding Integers (A)

Use an integer strategy to find each answer.

$$(-1) + (+38) =$$

$$(+40) + (-50) =$$

$$(+41) + (+92) =$$

$$(+64) + (-92) =$$

$$(-12) + (-21) =$$

$$(+12) + (-18) =$$

$$(-40) + (-71) =$$

$$(+16) + (+99) =$$

$$(+56) + (+19) =$$

$$(+1) + (+62) =$$

$$(-23) + (+49) =$$

$$(-36) + (-45) =$$

$$(-35) + (-35) =$$

$$(+51) + (-24) =$$

$$(+11) + (+68) =$$

$$(+99) + (+13) =$$

$$(-77) + (-63) =$$

$$(+78) + (-35) =$$

$$(+40) + (-80) =$$

$$(-32) + (+74) =$$

$$(-13) + (-64) =$$

$$(+33) + (+89) =$$

$$(-66) + (-91) =$$

$$(-47) + (-27) =$$

$$(+12) + (+44) =$$

$$(+83) + (+18) =$$

$$(-56) + (+17) =$$

$$(-60) + (+70) =$$

$$(-27) + (-71) =$$

$$(-78) + (+2) =$$

Adding Integers (A) Answers

Use an integer strategy to find each answer.

$$\begin{aligned}(-1) + (+38) &= \\ &= (+37)\end{aligned}$$

$$\begin{aligned}(+40) + (-50) &= \\ &= (-10)\end{aligned}$$

$$\begin{aligned}(+41) + (+92) &= \\ &= (+133)\end{aligned}$$

$$\begin{aligned}(+64) + (-92) &= \\ &= (-28)\end{aligned}$$

$$\begin{aligned}(-12) + (-21) &= \\ &= (-33)\end{aligned}$$

$$\begin{aligned}(+12) + (-18) &= \\ &= (-6)\end{aligned}$$

$$\begin{aligned}(-40) + (-71) &= \\ &= (-111)\end{aligned}$$

$$\begin{aligned}(+16) + (+99) &= \\ &= (+115)\end{aligned}$$

$$\begin{aligned}(+56) + (+19) &= \\ &= (+75)\end{aligned}$$

$$\begin{aligned}(+1) + (+62) &= \\ &= (+63)\end{aligned}$$

$$\begin{aligned}(-23) + (+49) &= \\ &= (+26)\end{aligned}$$

$$\begin{aligned}(-36) + (-45) &= \\ &= (-81)\end{aligned}$$

$$\begin{aligned}(-35) + (-35) &= \\ &= (-70)\end{aligned}$$

$$\begin{aligned}(+51) + (-24) &= \\ &= (+27)\end{aligned}$$

$$\begin{aligned}(+11) + (+68) &= \\ &= (+79)\end{aligned}$$

$$\begin{aligned}(+99) + (+13) &= \\ &= (+112)\end{aligned}$$

$$\begin{aligned}(-77) + (-63) &= \\ &= (-140)\end{aligned}$$

$$\begin{aligned}(+78) + (-35) &= \\ &= (+43)\end{aligned}$$

$$\begin{aligned}(+40) + (-80) &= \\ &= (-40)\end{aligned}$$

$$\begin{aligned}(-32) + (+74) &= \\ &= (+42)\end{aligned}$$

$$\begin{aligned}(-13) + (-64) &= \\ &= (-77)\end{aligned}$$

$$\begin{aligned}(+33) + (+89) &= \\ &= (+122)\end{aligned}$$

$$\begin{aligned}(-66) + (-91) &= \\ &= (-157)\end{aligned}$$

$$\begin{aligned}(-47) + (-27) &= \\ &= (-74)\end{aligned}$$

$$\begin{aligned}(+12) + (+44) &= \\ &= (+56)\end{aligned}$$

$$\begin{aligned}(+83) + (+18) &= \\ &= (+101)\end{aligned}$$

$$\begin{aligned}(-56) + (+17) &= \\ &= (-39)\end{aligned}$$

$$\begin{aligned}(-60) + (+70) &= \\ &= (+10)\end{aligned}$$

$$\begin{aligned}(-27) + (-71) &= \\ &= (-98)\end{aligned}$$

$$\begin{aligned}(-78) + (+2) &= \\ &= (-76)\end{aligned}$$